Subject: Re: Array Integration
Posted by Craig Markwardt on Sat, 14 Jul 2012 02:35:23 GMT

View Forum Message <> Reply to Message

On Friday, July 13, 2012 10:26:16 PM UTC-4, Maryam wrote:

> delta stays the same, but you are right about &quot;W&quot;.

>

> | know how to do this if W was an integer, not an array. | would simply define a function and
then use the QROMO command to find the value of the integral for a specific &quot;W&quot;, but |
don&#39;t know how to do this if W is an array. | tried to use the common block, but it
doesn&#39;t work. | appreciate your help.

You mean like this?
P = {w:w[i], delta:delta}
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